MATHEMATICS

1L It 2009 p.q®, where "p" and "q" are prime numbers, then
find the value of p + q.

(A)3 (B)48 (C)51 (D) 2009
2. In the parallelogram, the value of x is \
i

(D)80

(&) 30 ®50
3. 'The number of integers between and ﬁ is:
(A)5 (B)6 €7 (D)8

4. Let f(x)—x +x-6. For what valuef of "t" does

f(t-5)= )
(A)-3and2  (B)y a.é (€)5 (D)2 and 7

5. Given: 3x -4y -4- d x + ¢y = 13, for what value of "c" Wlll
the two equit ons not have a solutlon"

-4
e (’ (©) 4 o 5
6. thiof th ]lowmg polynomials below is identical to

W t.heir omial (x*-1)(x*-4)?
(A x4+ (B) x?—hx + 4
(C) (x2+[1) (x2+ 4) (D) (x®+x—2) (x* —x—2)

v Let f(X) denote a polynomial of degree 3. Suppose
fx+2)-f(x)=x*+4x + 4 and £(1) =

Find the value of £(3). '

A1 (B)19 (C)23 (D)13

circle of radius 25 units has a chord going through a
pomt that is located 10 units from the centre. What is
the shortest possible length that chord could have?

(A)25units  (B) /525 units (C) 40 units (D) /2100 units
UCN/2009/IX . n
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9 Aline para]lel to the base of a trlangle cuts the triangle into
two regions of equal area. Thisline also cuts the altitude into
two parts. Find the ratio of the two parts of the altitude.

@Ar:1 (B)1:2 ©1:v2 D 1:(¥2+1) q

10. Given two similar triangles one of which has twice the 'r
perimeter of the other, by what factor is the area of the -
larger triangle bigger than the smallexr?

(A)2 (B)4 (©) V2 (D) 242 C'

11. Given, three segments of length x, (11 - x) a #)l
- respectively. Which of the following indicates set‘ oil’
all numbers "x" such that the three segnments tf)u e the
lengths of the sides of a triangle? ¢
(A)x>4 B)0<x<11 (C) 4

12. Four points are on a line gegment,fas shown. If

AB:BC=1:2and BC:CD =8: BD equals
@ &
A B
(A)4:13 (B)1:13 Cy1:7 4:13
13. When expanded, the n ﬁ:) - of zeroe§ in 1000" is:
(A) 13 B)30, N & ©)4 /s (D)10
T b - —_a "
14. If K=u, y=—— and Z=£, then the value of
a+b b+c c+a :
(1+x)(1+y)(1+z) .
(1-x)}(1- y)@ i"ls
B arbir  (O)1 (D)-1

(A) 2 unitsfy % (B) Bunits (C)-8units (D)5 units
The abovg diagram shows the g‘raph of

Lt(AY X - .

: =92 +3 \
(c 4

g

+4 o

UCN/2009/IX | 2

(A) abciJ (B)
alb. pThe po : Q‘f) is at a distance of units from Y- axis.
G




| R .
17. In the ﬁgure, AB | |CD and /1:/2=8:2. The measure
of Z6 is

s R T T v
(A)T72° (B) 36° (C)108° D) 144
18. The area of a triangle whose si cm, 14 em and

15 cm is:
(A)84sgem  (B)B4sgem (C)B25 sqlem f(D) 105 sq cm
19. Given a chord AB in a circle as sho

If two more chords AD and BE are drawn perpendicular
to AB as shown in the figire, then L

J

ﬁ -
(-/ (A)AD= (B)AD = 2BE (C) 2AD =BE (D)ADxBE
2

0. If AABC APQR are having equal area and AB = PQ,
» Jthen their corresponding altitudes are
» (A) havirlg different length  (B) having same length

(C) canngt be determined (D) none of these

i

%

"r
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If ABCD 1s a parallelogram, then the shown angles
x" and "y" are related by:

- .
Ax=y ? 1. Y f
(Crx<y the'givdd data
In AABC, if ZB = AC 45° whi thelfollowing is the
lengest side? :

(A)AB (BYAC D) None of these

If angles P, @, R and S of the quadrilaferal PQRS, taken
in order, are in the ratio 3 :7 : 6 : 4, th'en P%S is a

(A) rhombus 4 [B) parallelggram
(C) trapezium {t ) kite
Which of the followingStatements i§/are true?

(A) Only one line can pass through a smgle point.

(B) There are an infinite number of lines which pass through
- two distinet points.

(C) A terminated line can be produced indefinitely on both the sides.
(D) All the above

Given, dlquadrilateral ABCD is 1nscr1bed in a circle as
shown i figure below. '

If ZB =1%",then /E is equal to’

(A)550 (B)125° (C) 130° (D) 62.5°

UCN/20 09/1X n

www.examrace.com




CGeAssax T nifiad Cadnell
CLASS : IX PHYSICS

26. Which of the following graphs represent an object moving
with a non-uniform accelerated motion?

Time —» Time —» Time —»

Velocity
Velocity

(A) P only- (B) Q &R only (©) s.gnl D) e‘h&s on1§

27. A player caught a cricket ball o gss 50 g ng at a
speed of 20 m/s. If the catchi es$ is completed in
0.1 s, the force of the blow exe edi/ the ball on'the hand

of player is equal to:

- (A)3N (B)30ON (C)1B0N D) 300N
28. Upthrust of a body in iﬂ id doesn e d upon its:
{A) weight (B) volam ; C) den51ty (D) 'g' at that point

29. In which of the‘fl:ll wing exan{ples, work done is
negative?

(A) Work dome ‘.'Ji_the force of gravity on a moving aeroplane
(B) Wor do& by, f,he force of gravity on a ball thrown upwards
(C) Wéwr done ﬂ'y the force of gravity on a fracly falling object

“« _J (D) Wo one by the force of gravity on a satellite revolving
arourid the earth .o

1. 30. The regions of compressions and rarefractions of sound
X v established because:
.. wave gre establis| ed because:
(A) the spund wave undergoes diffraction behind obstacles
(B) the reflected sound wave at fixed end interferes with the
| indident wave

@) the longitudinal movement of air molecules produce pressure

fluctuations

(D) the speed of the sound wave changes as it travels through a
medium

UCN/2009/IX '
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A parachutist after bailing out, falls 50 m without friction.
When parachute opens, it deccelerates at 2 m/s% He
reaches the ground with a speed of 3 m/s. At what height
did he bail out?

(A) 293 m (B)111m (C)91m (D) 182 m : 4-(

Three forces start acting simultaneously on a particle »
with velocity 'V'. These forces are represente-d"
magnitude and direction by three sides of a triangle (

as shown. The particle will now move with velocit{# " '

cg

(A) V, remain unchanged 1 gl r
(B) less than V P
(C) greater than V

(D) depending upon magnitude of largest for A B

Krishna is trying to push an
empty air tight bottle into a
beaker full of water. As he feies
to push it further doWinA -

(A) he needs to appl re force
(B) he needs tg apply less force

(C) he needs,tcellﬂ > ame force at

any depth
(D) he nged not apply any force

- A pump '&Qﬁlled on ground takes 15 minutes to fill a
0

water tan 30 m?® volume placed at a height of 50 m. If
the efficiency of pump is 30%, the power consumed by the

" Pump will be: (Take density of water = 1000 kglm?)
((A) 42 kW (B) 45 kW (CY49kW  (D)52kW
35. Which of the following statements about sound waves is
correct?
(A) Sound waves are not affected by the medium through which
it travels _
(B) Sound waves travel faster in air than in liquid
UCN/2009/1X H
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(C) Sound waves travel faster in solid than in air
(D) Sound waves cannot travel through a solid

36. A stone is dropped from a building and 2 seconds later
another stone is dropped. How far apart are these two
stones by the time the first one has reached at a speed of 30

m/s? f .}
(Take g =10 m/s?) M
(A) 80 m B)100m  (()60m  (D)40m __f ’ F

37. If suddenly the gravitational force of attractloﬂ ljetweJn ’
earth and a satellite revolving arotmd it beg iines zer
then the satellite will: 1 {\ 1

)

ane 1001Ly
ay

1

(A) continue to move in its orbit wi
(B) move tangentially and escape
(C) become stationary in its orbit
(D) move towards the Earth

38. A block of wood of lengtﬁfo em and area of cross section
15 cm? floats in water with 3/8 of its length above water.
What is the density of wood? (density of water 1 glcm?)

(4)0.256 glem® A X (B) 0.526 glem®
(C) 0.625 g/cm‘i1 X (D) 0.650 g/em®
isses 20 kg and 15 kg are dropped from

39. Two bodies
the to building. At any instant during the fall they
«% Jhaveeq

( (A) potent%ergy ~ (B) kinetic energy

> 4('0) momentum (D) acceleration

40: ultradonic wave is sent from a ship towards the bottom
of the sea. It is found that the time interval between the
sending@and receiving of wave is 1.6 s. What is the depth of

hé sea, if the velocity of sound in the sea water is 1400 m/s?

....
A1120m (B) 560 m
(C) 1400 m (D) 112 m
UCN/2009/1X |
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41. Which of the followmg statements is NOT true for a
particle moving in a circle with a constant angular speed?

(A) The velocity vector is tangent to the circle

(B) The acceleration vector is tangent to the circle 1
(C) The acceleration vector points to the centre of the circle r
(D) The velocity and acceleration vectors are perpendmu]al*qd
each other
42. A ball is released from the top of a tower of 1ght 'y
" metres. It takes "T" seconds to reach the gro at 1"
the position of the ball in T/3 seco

(A) h/9 metres from ground (B) 7hj grounr}
(C) 8W/9 metres from ground (D) Wh.
43, The 8.1 unit of relative densit
(A) kg m™® (B) g/em?® (C) kg/em® (D) ngne of the above

44. A box of mass 1 kg is péllled throug m along a level
floor by a horizontal forge of 8 N. The box is then raised
vertically on to ab 2 m high{ What is the total

from ground

-

workdone on the boa (Take g = 10 m/s®)
(A)184J (ﬁ (C)8J (D) /g2 +9202 J

45. Which of th M wing example shows, an object does
not change it T%ﬁmtude of velocity but only its direction
of mot on?

(A) "Parac tist bailing out of an aeroplane
(B} Motio b body along a circular path
(C) A body,

) A car lnoving with uniform velocity in a straight line

oving up against gravity

464 Which of the following is NOT an example of action-
eaction pair?

'.ffp' To walk, we push the ground in the backward direction by
feet

(Bj When a bullet is fired from a gun, the gun recoils

UCN/2009/IX n
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(C) A rocket engine moves up by ejecting gases downwards

(D) A book kept on a table is acted upon by two forces, the force
. exerted by earth (gravitational force) due to weight of the
book and the normal force, applied by the table

between the earth and the satellite is increased to 4 time
what will be the new time period? a2 "

(A) 20 hours (B) 10 hours (C)80hours (D) 40 hourffl |

A body 'A' of mass 5 kg and a body 'B' of mass 16- kgfall\eJ
dropped simultaneously from a height of 1 q.ﬁtalculfte
the ratio of their K.E., K,/K, wh ey arne 1Q m above

the ground. ‘ y = 100mis”)

(A)1 (B) 12 /3 (D) 1/4)

A body looses half of its veldcity whi penetrating 3 cm
into a wooden block, then how will it penetrate
more before coming to rest? V4

(A) 1lem (B)“Zcm*{ (C)3 cm r-'(D)éLcm
Which of the follsxa _ statementsdis NOT true?
(A) The mass of m‘ébject is a measure of its inertia
(BY A forcapx‘)ﬂpces change of momentum

1.
(C) In h,ig(i ju 3'3 an athlete is made to fall on a cushioned bed
to decrease His time of fall, and hence the impact

(D) 'f ¥en isolated system (where there is no external force), the
tot.z]"qomentum remains constant '

IX CHEMISTRY
Conversion of 475 K into celsius scale will give:
(A)30185°C (B)273°C (C) 207 °C (D) 201.85°C

Which of the following properties is different for solids,
liquids and gases?

g
r(A) Moverment of molecules (B) Particle size of the substance

UCN/2009/IX ﬂ

(C) Mass of the substance (D) Energy exchanges
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63. Non-reacting gases have tendency to mix with each other,
This phenomenon is known as:

(A) chemical reaction (B) diffusion
(C) effusion (D) explosion
54. Amorphous solids:
(A) are more flexible at higher temperature B
(B) include glasses Y
(C) do not have specific melting point '
(D) all of the above

53. Study the graph given below an. select t‘é ed;:-ectr
statement.

Ice

imum

1ty

Temp. in °C
_'ﬂ""_—!rq-lﬂ- T T T T

“- Volume

(A) When watergds cogled to 4 °C it contracts
(B)At O °G ate( cezes
(C) The me of ice is more than that of water at 0 °C

)Ml bove
{_}b Two subs I-Ac s A and B when brought together form a
substance € with the evolution of heat. The properties of
‘C,are entirely different from those of A and B. The
stance ISI
Ala compo d (B) an element
)a met (D) none of the above
57. of the following solutions show Tyndall effect?
(A) K solution of common salt (B) A solution of sodium carbonate

(C) Starch solution (D) Milk

UCN/2009/IX m




58. Column II gives methods to separate phases mentioned
in column I. Choose the correct answer.

''''' T TR T T AT Ryl TR LY T -'l:r'—-—'rr"'w--l-—i ettt —‘\-'\I-"l'l EEC AR

(A)a 1,b-iv, c-ii, d -iii (B)a-ii, b- 1110.1‘.0‘ Jr
(C)a-iv,b-iii,c-1,d-1i (D)a-l,‘-'

59. The size of a colloidal particle 1
(A) 10~ to 10-% cm (B)
(C)10%t010%cm (DY107° tq 107° cm

60. Which of these statements isfare tri
(A) The components of a solution can be e arajéd by filtration
(B) The particles of a coll¢ pass thrfugh a filter paper
(C) The constltuents impound can be separated easily
(D) BothAand B

61. Al samples of Wa?ér contain hydrogen and oxygen in the -
' mass ratio 1 : 8 This is in agreement with the law of:

ass (B) constant proportion
ion (D) gaseous volumes

r
(A) conservation o

(B)Magnesium
(D) Carbon
ingested in the amount of 90 micrograms per

this size€ sample? (Atomic weight of Se = 78.96)
(B) 8.8 x 107
,.(;JJ' 8.8 x 10% | (D) 6.9 x 10"
" UCN/2009/IX |
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64. Number of atoms and gram atoms present in 20 g of
calcium respectively are: '

(A) 3.1 x 10%® and 0.05 (B) 3.01 x 1023 and 0.5

(C) 0.5 and 3.1 x 102 (D) 0.2 and 3.1 x 102 Y
65. If the formula of a chloride of a metal M is MCL, then the { |

formula of the phosphate of metal M will be: 4 l -y P

(A) MPO, (BYM,PO, ¢ >

(CYM,PO, (D) M,(PO,), - 22 v/

66. Assertion : Atoms are electrically{leutral. 21 % r

Reason : A neutral particle, neufrén'is pr sgr%ﬁ‘ in the
»

nucleus of an atom.

(A) Both assertion and reason areffrue and rgason is the correct
explanation of assertion

{B) Both assertion and reason are truel.Jut reason is not the
correct explanation of assertion V4 |

(C) Assertion is true, reas&& false ‘
(D) Assertion is false, Maden is true f

67. While performig%‘ca hode ray experiment, it was
observed that there was no passage of electric current
under norma" E&onditions. Which of the following can
account forghis ebservation?

(A) Dust artic'lssgre present in air
(B) Carhen dioxide is present in air

-~ -
(C) Airis &ns:r conductor of electricity under normal conditions
(D) None]f the above

'68. #Which of the following is the pair of isobar?
‘_ o
(A) 7N15’ 016 (’B) 6C13, 7N14 (C) GClﬂ: 7N13 (D) 6N13’ 8015
Ozone if the stratosphere is depleted by:

‘_(Aj C F,Cl, B C.F,
€& cr,c, (D) C,F,
70. Besides CO,, other greenhouse gas is:
(A)CH, (B)N, (C) Ar (D)0,
UCN/2009/IX 12|
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CLASS : IX BIOLOGY

71. There are 8 chromosomes in the female gamete of
plant P? How many chromosomes are there in each leaf
cell of plant P?

(A)8 (B)12 ' 10
(C)14 (D) 16 .
72. Which would most likely cause the liquid in Tube A to
rise? x| ‘\
<

'A

Tubing g < " 10 ml of

10 ml of 5% - :
starch solution ‘
Lgg .

" ;nembrmqf' ;
(A) Starch concerq,ﬁétions being equal on each side of the
membranﬁ ' _
< )
(B) Water pgssing from a region of lower starch concentration
to that of higher starch concentration

© \&a, r and g.tarch volumes being the same

</ (D) Solutsdn the tubes changing irom a higher temperature to
a lowgr temperature

A 73. ‘In Calif@rnia, citrus orchards were badly damaged by
». scale insects. To control these scale insects, ladybird
beetles were released into these orchards. This type of

pest control is known as:

(A) chemical control _ (B) beetle control
>~
{€) disease control + (D) biological control
U CN/2009/IX 43
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74. Whlch of the follow1ng statements aptly descrlbes the
animal given below for placing in its phylum?

(A) The space between the ectodermian
filled with mesenchymal mesod

ndodf!ix,slmpg

ells ‘)
-,
t bedy without true

(B) Group of animals with lo
: t soil or parasitic

segmentation that lives in
invertebrates

(C©) A group of animals with , ?lindrical and

unsegmented body
(D) Elongated body th*s\compose of partitions called
metameres or tions

75. ldentify the part elled P, Q and R in the diagram of a
root hair, shoﬂ below.

<& .
"‘f A)P Vhcuole, Q - Nucleus, R - Cell wall .
(B) P- Pygotoplasm, Q - Nucleus, R - Cell membrane
(G) P <Nucleus, Q - Vacuole R - Cell wall

*(ﬁ) P- Nhtochondna, Q - Nucleus, R - Cell wall

UCN/2009/1X m
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76 Whlch of the follomng best describes the pathway of a
protein from its manufacture to its release from the cell?

(A)  Golgi complex —» endoplasmic reticulum — secretory vesicle
(B) Endoplasmic reticulum — Golgi complex — secretory vesicle

(C) Secretory vesicle —» Golgi complex — endoplasmic
reticulum

(D) Secretory vesicle — Golgi complex — endoplasmic

reticulum
77. Which of the following orgamsmils ‘espox(s}lﬂéior t{e
destruction of vital cells in the i une sys ein?’
@ LEDE ® &R >
{l'.:’ﬂ-.'_:;“;f*'.‘_ »] @ %
o .
78. Mule is a product of: £
(A)breeding ‘&(B) mutati n
(C) hybridisation { (D) interspecific hybridisation
79. Figure given beib is the schematlc diagram of a cell
organelle. ich of the following statements about the

ﬁgure is. trtd?

f‘- (A) e rganelle shown is a chloroplast; the arrow points to a
thyl oid

(B) Th organelle shown is the Golgi apparatus; the arrow points
© to a vesicle

K}) The structure shown is a mitochondrion; the arrow points
to a cristae

(D) The structure shown is the Golgt apparatus; the arrow points
to a cristae >

UCN/2009/IX | 15)

www.examr

Jace.com



m i ; : Unified Council’

80. The presence of which of the following is useful in separating
ferns and mosses into different taxonomic categories?

(A)Nuclei (B)Chlorophyll (C) Vascular tissue (D) All of the above
81. Observe the figure given below. T r"l

(B) Cyfindrical striped, nucleated'and vo
(C) Cyhndrlcal striped, bra&:gid and invo

(D) Spindle, unbranche&g:l.n

82. Which of the follow'rﬂl
tissues?

leated an mvoluntary

ave speci

(TR

(C)

=Y,
.

8:} ever, headache, shivering, excreting small amount of

» _dark yellpw urine are the symptoms, a patient, describes

to a doctpr. The doctor's diagnosis is that the patient is
suffering from a disease which is:

» (1 ’ carried by mosquitoes (i) caused byprbtozoa
(1) spreadthrough contaminated food

(A) I only (B) I and IT only
(C)II and ITI only (D) I, IT and ITI
UCN/2009/1X . m
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84. The characterlstlcs given below belong to:

Five-part body plan
Radial symmetry

Spiny outer covén’ng

85. Which of the following charagferistits are ciajlrable in
new strains of plants to incrgase food jproduction?

{A) High yield (B) Yieldjof good quality
(C) Short maturation period (D) All of {fie above

86. Which of the follow’q pollutan its effects is
correctly matched? { i ‘

Pollutant) 4 Effect |
(A) Smoke . - Acid rain -
(B) Plumb'un] :\ Cough and cold
(C) Radioattiveinays Leukemia
(D) S phur (i ide Brain damage
& g le lled parenchyma tissue as shown below. Which
~of the g‘klng is wrong?
“ v /- A[F—— Thick cell wall
) Intercellular space
. / Nucleus
»> Vacuole
F :

(A) Nucleus (B) Vacuole (C)Thick cell wall (D) Intercellular spaces

UCN/2¢ 091X
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88. In the following bio-geochemical cycle, name the
processes marked as X, Y and Z. :

N @ X .
2 ———» Nitrates
(atmosphere)
@4 }
Nitrates Plants

1 P

Nitrites - Ani : gy
Animals E i { _

T - -‘ (1.-'1._‘ r

Ammonia —0 " — Decqjiﬂ)

(B) X - Arnmeonification, Y - Nitrif] enitrification
. (C) X - Nitrification, Y - Ammomﬁcatmn - Den'?riﬁcation
(D) X - Denitrification, Y - omﬁcatm - Nitrification

89, Apersonis suffenng ot chest pain, breathlessness, loss

of body weight, I?jn nt cough and produces blood
stained sputum. e the disease and its causative

(A) X - Decomposition, Y - Nitrificgfio - DEnitrification
ation,

agent. i
Dls@ge‘ﬁ\ Causative agent
(A) Tub‘rculos§’ Mycobacterium tuberculosis
@ (B T¥okoid Salmonella typhi
(J (C) | Hepd#itis-B Hepatitis B virus
(D) Tube culosis E.coli
aturalgdlsasters that can affect habitats in the
environment are:
(] droughts
(i) floods

(fl)  thethinning ofthe ozone layer

(A)Tonly @B)landOonly (CODandllonly O)I Tandd

‘UCN/2009/iX . ' m
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GENERAL QUESTIONS
91.. Genuine : Authentic : : Mirage : ? 1
(A) Illusion (B) Hideout
- (C) Image . (D) Reflection
92. Which number should come next in the series given below?

(A) 104 B)183 ©138 Dizsl T

93. What comes next in the seq_uen;%& bel‘w"

i e il LA

=B E

o

i '——'{ —_—)

ey (B)

i O) =0
i

M, th:ﬂ of the‘q’e rivers crosses the Equator twice?

%
(‘J (A Nﬂg) (B) Congo
\ (C) Godgvari . (DYKosi

¥ 95! Where is the headquarters of the Interpol situated?

LS
(  (A)Patis (B) New York
_EC) Lyons (D) London
o
UCN/2009/IX 19|
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. To win a Grand Slam in tennis, a player has to win:

(A) Australian Open, Wimbeldon, French Open, US Open
(B) Wimbeldon, French Open, US Open

(C) Wimbeldon, French Open, pegas Czeck Open, US Open
(D) Davis cup, Wimbeldon, Fench Open '

Which state launched 'Suvarna Gramodya', a programme
aimed at developing 28,000 villages, on the occasion of its
golden jubilee? '

(A) Kerala (B) Ka.mataka
(C) Uttar Pradesh (D) Tamil Nadu

With which famous Indian corporate house is the name
of Azim Premji associated?

(A) Infosys (B) Dell

C) Satyam (D) Wipro

99. Asper the fairy tale, what did Cinderella's horses change
into at the stroke of midnight?
(A) Mice (B) Goat
(C)Horse (D) None of these
100. The Chief guest at India's Republic Day parade in 2007 was:
(A) President of Iran (B) King of Bhutan
(C) Vladimir Putin (D) King of Saudi Arabia
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' KEY FOR THE Q.P.-2009
1. B 2. C 3. D 4. D 8 D 6. D 7. A 8 D
9. D 10. B 1. D 12. A 13. B 14, C 15. B 16. D
17. A 18. A 19. A 20. B 21. D 22. C 23. © 24. C
25. A 26. C 27. B 28, A 29. B 30. C 31. A 32. A
33. A 34 C 36. © 36. D 37. © 38. C 39. D 40. A
41. B 42. C 43. D 44 B 45. B 46, D 47. D 48. B
49. A 50. C 51. D 52. A 53. B 54, D 55. D 56. A
57. C 58. A 59. B 60. B 61. B 62. B 63. D 64. B
65. A 66. B 67. C 68, C 69. C 70. A 71. D 72. B
73.D 74. D 78. © 76. B 77. A 78. D 79. B 80. C
81. D 82 A 83. B 84. B 85. D 86. C 87. C 88. C
8. A 90. B 91. A 92. C 93. D 94. B 95. C 96. A
97. B 98. D 99, A 100. C
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